Model Paper: English Compulsory B.A Year 2
Max. Marks: 100

Time Allowed: 3 1/4 hours
Note: Attempt all questions.

Section A: 45 marks
Q1. Explain any TWO of the following with reference to the context:-
. (10)
(a) We slowly drove- He knows no haste
And I had put away
My labour and my leisure too,
For his civility.
(b) When I have fears that I may cease to be
Before my pen has gleaned my teeming brain,
Before high piled books, in charactry.
Hold like rich garners the full ripened corn
(¢) My feet are locked upon the rough bark
It took the whole of creaticn
To produce my foot, my each feather,
Now I hold creation in my foot.
(d) The fog comes
On little cat feet.
It sits looking
Over silent haunches
And then moves on.
Q2. Attempt any TWO of the following questions in 150-200 words each: - (20)

(a) Write a note on the good manners of conductors on the bus in ‘On Saying Please’.
(b) Describe the origin of the word ‘super.’

(c) In “To Err is Human’ the author feels all exploration is based on human fallibility.
Do you agree? '

(d) What is the significance of tolerance for us?
Q4. Attempt any TWO of the following questions in 150-200 words each: (15)

(a) Describe the kingdom of Xanadu where Kubla Khan was going to build his
pleasure dome? '

(b) What does ‘many a road track’ signify in ‘Lights Out’?
(¢) What is the importance of sleep in ‘After Apple Picking.?
(d) The poet feels repentance after his encounter with the snake. Why?

Section B: "55 marks

QS. Write an essay with an outline on any ONE of the following topics in 250 -300

Words: ( 5+15=20)
(1) Growing Violence in Pakistan

(i) Do We Live Happier Lives Than Our Ancestors
(i11) The Tyranny of Fashion
(1v) Role of a Teacher in Society
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NAME ROLL NO

ZOOLOGY PAPER -C B.Sc. -PART-II
Time: 3 Hours Max. Marks: 27
NOTE: Cutting and over writing is not allowed in objective part. In Part—I all questions
are compulsory. Attempt any SIX parts from Q 5 of Part-II and two questions from Part-
I11.

Q NO.1: Correct the statement. Mark tick against the correct ones. (0.25 x 4 =1)

Sr. Statement True/False | Correct statement
#
1 Chlorocruorin is green when

associated with low oxygen
concentrations and bright red when
associated with high oxygen
concentrations.

2 Badgers, bears, and opossums enter
torpor during winter months.

3 Reptile, Amphibian and fishes are
endothermic.

4 The female uterus is divided into
two layers.

Q NO.2: Choose the best choice for the statement from the multiple choices given below:
(0.25 X 8 =2)

1:The type of breathing that allows an organism to exchange gases simultaneously with
both air and water is termed

a. cutaneous exchange. b. bimodal breathing.

c. gill exchange. d. lung exchange.

2: The reason why tissue and organ transplants are rejected in birds and mammals is due
to

a. the action of NK cells. b. natural immunity.

c. the action of plasma cells. d. the action of antibodies.




